REQUEST FOR LEGISLATIVE ACTION

Version 6/10/19

Completed by County Counselor's Office:

RXXOrd No.: 5394

Sponsor(s): Date:

Theresa Cass Galvin August 31, 2020

SUBJECT Action Requested Resolution ○ Ordinance Project/Title: Appropriating \$426,081 in CARES Act funding for use by various departments of the County to pay unanticipated COVID-19 costs for PPE, virtual meeting software, and signage, and health screenings at County facilities. BUDGET **INFORMATION** Amount authorized by this legislation this fiscal year: \$426,081 To be completed Amount previously authorized this fiscal year: \$600,000 By Requesting Total amount authorized after this legislative action: \$1,026,081 Department and Amount budgeted for this item * (including transfers): \$426,081 Finance Source of funding (name of fund) and account code number: FROM: FROM ACCT: 040-9999-32810 CARES Act Fund, Undesignated Fund Balance \$426,081 **CARES Act Fund** TO ACCT: 040-1001-57170 County Administration - Medical and Dental Supplies \$232,443 040-1001-56060 County Administration - Medical Services \$190,960 040-1001-56661 County Administration - Software Purchases \$990 040-1001-57160 County Administration - Food \$660 040-1001-57400 County Administration - Signs \$1,028 Total: \$426,081 * If account includes additional funds for other expenses, total budgeted in the account is: \$ OTHER FINANCIAL INFORMATION: No budget impact (no fiscal note required) Term and Supply Contract (funds approved in the annual budget); estimated value and use of contract: Department: Estimated Use: Prior Year Budget (if applicable): N/A Prior Year Actual Amount Spent (if applicable): N/A Prior ordinances and (date): #5367 + #5333 PRIOR **LEGISLATION** Prior resolutions and (date): CONTACT INFORMATION RLA drafted by Troy Schulte, County Administrator at 881-1079 REQUEST This ordinance appropriates \$426,081 in CARES Act funding to the County Executive for the purchase of **SUMMARY** various basic needs of the County to address the COVID-19 pandemic. \$233,471 will be allocated for the purchase of additional masks, gloves, hand sanitizer, wet wipes, labels, paper towels, and disinfectant spray for the next five months through December of 2020. Virtual software expense of \$990, directional signage for \$1,028 and food for volunteers of \$660 is included as well. \$190,960 will be used to pay for temporary labor services to handle the daily temperature checks at the Downtown Courthouse, Family Courts, Truman Courthouse, Eastern Jackson County Courthouse, and the Albert Riederer Community Justice building from August through December of 2020. Previous ordinances allocated a total of \$600,000 for County-wide purchases of PPE, health screenings, and computer hardware and software. CLEARANCE Tax Clearance Completed (Purchasing & Department) Business License Verified (Purchasing & Department) N/A

	Chapter 6 Complia	nce - Affirmative Action/Pr	evailing Wage (Coun	ty Auditor's Office)	
COMPLIANCE	☐ MBE Goals ☐ WBE Goals ☐ VBE Goals	N/A			
ATTACHMENTS	See attached budget sur	nmary	0.,		
REVIEW	Department Director:	allag M.	Schults-	Date: 8/2712	0
	Finance (Budget Appro If applicable	val):	APPROVED By Mark Lang at 9:50	Date:	
	Division Manager:Ohm	of Administrative Officer	21	Date: 8/27/202	2/1
	County Counselor's Of	fice:		Date: 8/27	7/20
Fiscal Informati	on (to be verified by I	Budget Office in Finance	ce Department)		
☐ This expe	nditure was included in the	e annual budget.			
Funds for	r this were encumbered from the Fund in				
is chargea	ble and there is a cash bala	mbered to the credit of the ance otherwise unencumber at to provide for the obligation	ed in the treasury to the	ne credit of the fund from which	:h
Funds suf	ficient for this expenditure	will be/were appropriated l	y Ordinance #		
⊠ Funds suf	ficient for this appropriation	on are available from the so	arce indicated below.		
Account	Number:	Account Title:	Amount	Not to Exceed:	
040-9999		CARES Act Fund, Under Fund Balance			
		and does not obligate Jacksonecessity, be determined as		specific amount. The availabil aces its order.	lity of

This legislative action does not impact the County financially and does not require Finance/Budget approval.

Supplemental Appropriation Request Jackson County, Missouri

Funds sufficient for this appropriation are available from the source indicated below.

Date: August 26, 2020			Ord # <u>5394</u>			
Department / Division		Character/Description	From	То		
040	CARES Act					
9999	-	32810 Undesignated Fund Balance	\$ 426,081	\$ -		
1001	County Executive's Office	56060 Medical & Dental Services		190,960		
1001	County Executive's Office	56661 Software Purchases		990		
1001	County Executive's Office	57160 Food		660		
1001	County Executive's Office	57170 Medical & Dental Supplies		232,443		
1001	County Executive's Office	57400 Signs, Badges, & Markers		1,028		
•						
	·					
				<u>-</u>		
			\$ 426,081	\$ 426,081		

APPROVED

By Mark Lang at 9:50 am, Aug 26, 2020

Budget Office

	Vendor	Item	Quantity	Unit Price	Shipping	Total
Medic	al Supplies					
	Guardian	Associate Masks-KN 95	35,000	\$ 1.98	Inclusive	69,300
	Frontline	Associate Masks-KN 95	55,000	\$ 1.98	Inclusive	108,900
		3-Ply Masks for Public				
	Frontline	entering Courthouses	20,000	\$ 0.53	Inclusive	10,600
		500 each sm, med, Irg, xIrg				
	Frontline	nitrile gloves	2,000	\$ 0.20	72.95	463
		Sanitizer Gel for Standing				
	Frontline	Dispensers	720	\$ 14.58	341	10,841
	Frontline	Signs for Standing Dispensers	61	\$ 27.50	Included in above	1,678
	Frontline	Anti Bacterial Wet Wipes	63 cartons (2,646 Packets)	\$ 185.00	Inclusive	11,655
	J. Rieger & Co.	Hand Sanitizer		~		9,000
	Office Product Alliance	White Associate Labels	30 Pckts/5 months		Inclusive	1,043
	Office Product Alliance	Colored Labels	20 Pckts/5 months		Inclusive	424
	Office Product Alliance	Paper towels	2 cartons	\$ 25.66	Inclusive	52
	Office Product Alliance	Disintectant Spray	10 boxes for 5 months	\$ 79.07	Inclusive	3,954
		3-Ply Masks for Public		,		
	Arrowhead Scientific	entering Courthouses	2000	\$ 1.20		2,400
	Arrowhead Scientific	Latex and vinyl gloves				351
	Restaurant Depot	Latex and vinyl gloves				1,555
		3-Ply Masks for Public				
	Restaurant Depot	entering Courthouses				229
	*				Subtotal:	\$ 232,443
Signag	ge					
		Signs for COVID-19				
	Almar Printing	Awareness	28	\$ 11.64		326
		Directional & Informational				
	Corporate Copy Print	Signage				702
					Subtotal:	\$ 1,028
Medic	al Services					
		Temp Agencies-6 Temp				
	A-List and AtWork	Screeners-Regular hours	22 Weeks	\$7,000	N/A	154,000
		Temp Agencies-6 Temp				
	A-List and AtWork	Screeners-Overtime hours	22 Weeks	\$1,680	· N/A	36,960
					Subtotal:	
Volun	teer Support					
	Andre's Confiserie Suisse	Food for volunteers				660
					Subtotal:	\$ 660
Virtua	l Software					
	Lifesize Standard	virtual meeting platform	1	\$ 149.95		150
	Streamyard.com	Virtual meeting software	1	\$ 240.00		240
	Zoom. US	Zoom Access for County	4	\$ 149.90	Inclusive	600
					Subtotal:	
					Total:	426,081